3.3 Piecewise Functions
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Piecewise Functions
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a. What is the domain of g(x)?
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e. Graph the function.

f. What are the maximum and minimum
values of g{x)

iy LIS g -3

L
2 f(x):{S—x,'x;Z »
a. What is the domain of f{x}? (“oO, oO)

x2+1x<2}

b. What is the range for step 17 B ' 0&3
c. Fiﬁd f{1) = 9\

d. Findf(2) = 5

e. Graph ihe function.

- f. What are the maximum and minimum
values of g(x)? N woudwadna

XZ. ‘ 5 'X N() VWL W\ N
s 313
\ | Z 3 |2
V! g )
B

An
v
ey
12 LA VN SR,
10
/ Q*
{
| 6L\
b \ -
TL !
\
2 \
2 k | -
— 2
)
o~ P —
y G/ & \6
5
Q
10
12 3
¥
/\)}
8
! ]
i !
6
~ 4 f
AN
U

&an

S

% W



